2.

Rt A b TEEE Eolk - @Rk =AF F&H 01

BD=DC,CE:EA=2:3, AF:FB=2:1T»%. (S#Hh15258, AH2545%, Bifk44, C#H74 )

(1)
(2)
(3)

A DEF : A ABC %3k &.
AP :PD %K X.
FP:PE &3k X.

AF:FB=2:1, AE:EC=3:1, FP:PE=4:3 T»5. (SHT1D10, AH2530%, B4, CH74)

(1)
(2)
(3)

A AFE: A ABC %3k K.

BD : DC %3k &.
AP :PD %3k L.

A
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3. BD:DC=3:2,CE:EA=4:3, AF:FB=1:2T®5%. (SHh1225%, AfR2245%, Bfhk4d s, CHT7H)

(1) ADEF:AABC 2k® k.
(2)  AP:PD %k k.
(3) FP:PE &Kk Xk.

N\

4. AF:FB=4:5, AE:EC=3:5, FP:PE=2:3Th5. (SH15208, AfE2545%, Bik4s, CHT74)

(1) A AEF: A ABC %3k k.
(2) BD:DC %k k.
(3) AP:PD %k k.

AN
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2.

R&t7ZA b TEEFE KoL - EELE ZAF Lo 01 BERESR

BD=DC,CE:EA=2:3, AF:FB=2:1T»5%. (S#h175 258, A#k2/745%, Bihk4sn, CH«T745)

(1) ADEF: A ABC %3k k.
(2)  AP:PD %k k.
(3) FP:PE %2k k.

(1) AABCOmHM%Z 1 &9 13,

_2 .3 _2
AAFE=2 x 3 _ 2
_ 1 1 _ 1
ABDFf2><3 5
_2 1 _1
ACED75><2 3
A DEF = A ABC — (A AFE + A BDF + A CED)
_q1_ (2, 1
=1 (5+6+5)
1.2 _ 7
30 30
A DEF : AABC—% 1=7:30
(2) Kk TR, S OME AP:PD:AAFE:ADEF:%:%:12:7

3 _ 1.2 1

(3) * EHELNSOME FP:PE=AFAD: AEAD = AABDx— AACD x 2 = Exg.ixgzlo:Q

AF:FB=2:1, AE:EC=3:1,FP:PE=4:3THh5. (SH1D310%, A%2230%, Bf4n, CH74)

(1) A AFE: A ABC %3k k.
(2) BD:DC %Zkd k.
(3) AP:PD %k k.

3_1
><4—

(1) A ABC Ofift% 1 £ $hiE, A AFE = :

2
3
AAFE:AABC:%:1:1:2
(2) *iEoEhSEMEL
FP:PE=4:3 Thdh1o,
AAFP: AAEP =[4]:[3] 695, <ERICESRAD.

AF:FB=@:0® = APFB:X%: 7RI~

AE:EC=A A > APEC:xiz 7B~
* @A SOMHE  BD:DC = AABP: AACP = ([4]+[2]): ([8]+[1]) =6:4=3:2

(3) (1) & (2) %5, AAFE=[4]+[3]=[7] ---AABC@%
J:o’C,AABC:+%: = APBC:—(++)=—=

* EELENSOME AP : PD = MUK ABPC: A PBC =[10]:[4]=5:2
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3. BD:DC=3:2,CE:EA=4:3, AF:FB=1:2T®5%. (SHh1225%, AfR2245%, Bfhk4d s, CHT7H)
(1) ADEF:AABC Zko X.
(2) AP:PD %k k.
(3) FP:PE Zkd&.

(1) AABC DMz 1 &9 1T,

1.3 _1

AAFE—3 - -

3.2 _2

ABDF—SX3 5

_4 2 _ 8

A CED = - X == 38

A DEF = A ABC — (A AFE + A BDF + A CED)

_ 2 8
=1- (7+5 35)

28

35 35

ADEF:AABC:%:1:8:35

(2) Kk TR S OME AP:PD:AAFE:ADEF:%:%:5:8

(3)  EREHSDME FP:PE:AFAD:AEAD:AABDX%:AACDxéz

AF:FB=4:5, AE:EC=3:5, FP:PE=2:3Th5. (SHh12208, Afk2/345%, Bih4s, CHT745)
(1)  AAFE: A ABC %#3ko k.

(2) BD:DC %#3ko k.

(3) AP :PD %3k &.

(1) A ABC OHift%E 1 &30, AAFE:%X%:
AAFE:AABC:%:l:l:G

1
6

(2) K IRDLLH SEEL
FP:PE=2:3 THBH5,
A AFP: A AEP =[2]:[3] ¥ 5. <—7’£ﬂ THEERD.

AF:FB=®:(® = A PFB= >< [25] <Z&RA~

AE:EC=A A = APEC:Xi: —EF A~
* ERLASOUE  BD:DC = A ABP: A ACP = ([2]+[25]) : ([(3]+[5]) =45:8=9:16

(3) () @»5, AAFE=[2]+[3]=[5] ~ AABCO
ko, Aapc=[5]+ L ~[3] » & pBC-[30]- ([5]+[25]+[5) - [30)- [25] - [173]

* @A SOME AP :PD = PUfjj ABPC: A PBC =[125]:[17.5]=
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